



THE RIGHT TOOL FOR EVERY TASK

The world's largest manufacturing companies trust WypAll®.

That's because each product in the WypAll® range of Professional Wiping Paper, Wypall® Industrial Cloths and Kimtech® Critical Cleaning Wipes has been carefully designed with the task in mind.

From a simple water spill to industrial fluid absorption, from a hospital ward to the toughest manufacturing environment, WypAll® delivers high performance and consistent quality. Every wiping task has a standard to meet. WypAll® helps every user exceed it.





WYPALL® PROFESSIONAL WIPING PAPER

Product Food & Hygien	Colour/Code	Name	Sheet size (L x W)	Case Contents	Plies	Technology	Benefits	Dispenser
Toou & Trygren	7236 7225	Food & Hygiene Compact Rolls <i>L10</i>	46 cm x 24 cm	24 Rolls x 76 m = 1824 m = 3960 Sheets	1	LDC	Small, portable and easy to handle rolls for light-duty hygiene wiping.	7041
Production of the second of th	7256 7255	Food & Hygiene Centrefeed <i>L10</i>	38 cm x 19.5 cm	6 Rolls x 304 m = 1824 m = 4800 Sheets	1	LDC	Mid-size, portable, high capacity rolls, for light-duty hygiene wiping.	7017
	○ 6222 ● 6223	Food & Hygiene Centrefeed – for <i>Reach™</i> dispenser <u>L10</u>	38 cm x 18.3 cm	6 Rolls x 164 m = 984 m = 2580 Sheets	1	LDC	Small rolls for light-duty hygiene wiping using the portable single-sheet Reach™ Dispenser.	6221
A made in the second se	7490 7494	Food & Hygiene Centrefeedfor <i>Roll Controf</i> " dispenser <i>L10</i>	38 cm x 18.5 cm	6 Rolls x 239 m = 1434 m = 3780 Sheets	1	Airflex™	Mid-size, high capacity rolls for light-duty hygiene wiping using the single-sheet Roll Control™ Dispenser	7018 7181

DISPENSERS FOR THIS RANGE



WypAll®Compact Roll Dispenser 7041



WypAll® Reach™ Dispenser



Product	Colour/Code	Name	Sheet size (L x W)	Case Contents	Plies	Technology	Benefits	Dispenser
Service & Reta	il Wiping	g L10						
Language American	6220	Service & Retail Centrefeed – for <i>Reach™</i> dispenser <i>L10</i>	38 cm x 18.3 cm	6 Rolls x 106 m = 636 m = 1680 Sheets	1	Airflex™	Small, higher performing rolls, for use with the portable, single-sheet Reach™ Dispenser	6221



Cleaning & Maintenance Wiping L20



7278 Cleaning

Cleaning & Maintenance Centrefeed L20 38 cm x 6 Rolls x 152 m = 912 m 19.5 cm = 2400 Sheets

2 LDC

Mid-size, portable, durable rolls for more demanding cleaning & maintenance tasks.

7017

Industrial Wiping L20



Hand & Face Wiping L40



O 7471

Hand & Face Quarterfold Wipes <u>L40</u>

31.7 cm x 18 Packs x 56 Sheets 30.4 cm = 1008 Sheets

1 Double re-creped

Quarterfold wipes with exceptional softness and absorbency for hand and face wiping.

7969



Aquarius™ Roll Control™ Dispenser 7181



Aquarius™ Roll Control™ Dispenser 7018



Kimberly-Clark Professional™ Quarterfold Wipe Dispenser 7969

WYPALL® EXTENDED-USE CLOTHS

	Colour/Code	Name	Sheet size (L x W)	Case Contents	Technology	Benefits	Dispenser
ight Food Re	sidue Clea	aning X50					
Hille-	7441744274447443	WypAll® X50 Colour-coded Interfolded Cloths	41.8 cm x 24.7 cm	6 Bags x 50 Sheets = 300 Sheets	Hydroknit™	Interfolded cloths for segregated hygiene cleaning in food production, preparation and service	6954
Tough Food Re	esidue Cle	eaning X80 Plus					



Dusting, Wiping & Polishing Microfibre



KIMTECH® CRITICAL CLEANING CLOTHS & WIPES

Product	Colour/Code	Name	Sheet size (L x W)	Case Contents	Technology	Benefits	Dispenser
Disinfectant A	pplication	n Wettask™ DS/DSX					
WHOTESH MINISTER	<u></u> 77767	KIMTECH® Wettask™ DS Centrefeed	31.8 cm x 30.5 cm	6 Refills x 90 Sheets = 540 Sheets	Spunbond	Hygiene wiping cloths which can be saturated with a disinfectant of your choice using the Wettask™ system	7919*
Minteger Witneys of Georgia and	7762	KIMTECH® Wettask™ DSX Centrefeed	31.8 cm x 30.5 cm	6 Refills x 90 Sheets = 540 Sheets	Spunbond	Strong hygiene wiping cloths with exceptional debris pick-up which can be saturated with a disinfectant of your choice using the Wettask™ system	7919

^{*}included

DISPENSERS FOR THIS RANGE



Kimberly-Clark Professional™ Quarterfold Wipe Dispenser 7969



Wettask™ Roll Wiper Dispenser - Bucket 7919



Aquarius™



WYPALL® PROFESSIONAL WIPING PAPER

Product Surface Wipin	Colour/Code		Sheet size (L x W)	Case Contents	Plies	Technology	Benefits	Dispenser
Tanks .	<u></u>	Surface Wiping Centrefeed Roll <i>L10</i>	38 cm x 18.5 cm	12 Rolls x 200 sheets = 2400 Sheets	1	Airflex™	Small, portable easy to handle rolls for light-duty surface wiping in process environments	-
Ingle or an arms of the second of the second or an arms of the second or arms of the second o	7202 7200	Surface Wiping Jumbo Roll <i>L10</i>		1 Roll x 380 m = 380 m = 1000 Sheets	1	Airflex™	Large roll, high capacity for light-duty surface wiping in process environments	6146 6154 6155
and a	7241 7240	Surface Wiping Jumbo Roll – Extra Wide <i>L10</i>		1 Roll x 385 m = 385 m = 1000 Sheets	1	Airflex™	Large roll, high capacity with high-coverage wide sheet, for light-duty surface wiping in process environments	6146 6154 6155
	7356	Surface Wiping Jumbo Roll – Extra Wide <i>L20</i>	38 cm x 35 cm	1 Roll x 380 m = 380 m = 1000 Sheets	2	LDC	Large roll, high capacity with high-coverage wide sheet, for light-duty surface wiping in process environments	6146 6154 6155
Cleaning & M	aintenanc	e Wiping L20 & L30						
10 1	7400	Cleaning & Maintenance Wipes Brag [™] Box <i>L20</i>	42 cm x 33 cm	1 Box = 280 Sheets	2	LDC	Versatile benchtop dispensing box for keeping cleaning wipes on hand at workstations	-
	7338	Cleaning & Maintenance Compact Rolls <i>L20</i>		24 Rolls x 53 m = 1272 m = 2784 Sheets	2	LDC	Versatile, small and easy to handle rolls for a variety of cleaning & maintenance tasks	7041
No nor	7300	Cleaning & Maintenance Jumbo Roll <i>L20</i>	38 cm x 23.5 cm	1 Roll x 190 m = 190 m = 500 Sheets	2	Airflex™	Versatile large roll for a variety of cleaning & maintenance tasks in process environments	6146 6154 6155
	7301	Cleaning & Maintenance Jumbo Roll – Extra Wide <i>L20</i>	38 cm x 33 cm	1 Roll x 190 m = 190 m = 500 Sheets	2	Airflex™	Versatile large roll with high-coverage wide sheet, for cleaning & maintenance tasks in process environments	6146 6154 6155
NEDENCEDE FOI	. =	25						

DISPENSERS FOR THIS RANGE







				,				
Product	Colour/Code	Name ce Wiping L20 & L30	Sheet size (L x W)	Case Contents	Plies	Technology	Benefits	Dispenser
Cleaning & Ma	intenant						Versatile large roll with high capacity for a variety	6146
2 more	7317	Cleaning & Maintenance Jumbo Roll – Extra Long <i>L20</i>	38 cm x 23.5 cm	1 Roll x 380 m = 380 m = 1000 Sheets	2	Airflex™	of cleaning & maintenance tasks in process environments	6154 6155
Property States	7359	Cleaning & Maintenance Jumbo Roll – Extra Wide & Long <i>L30</i>	38 cm x 33 cm	1 Roll x 380 m = 380 m = 1000 Sheets	3	LDC	Versatile large roll with high capacity and wider sheet, for a variety of cleaning & maintenance tasks in process environments	6146 6154 6155
Industrial Wipi	na L30							
Margas Samuel Samuel	7425	Industrial Jumbo Roll <i>L30</i>	38 cm x 23.5 cm	1 Roll x 285 m = 285 m = 750 Sheets	3	Airflex™	Extra-durable large roll, for heavy-duty wiping tasks in industrial process environments	6146 6154 6155
Proping	7400	Industrial Jumbo Roll –	38 cm x	1 Roll x 255 m = 255 m	3	A :£1TM	Extra-durable large roll with high-coverage wider sheet	6146
	7426	Extra Wide <i>L30</i>	37 cm	= 670 Sheets	3	Airflex™	for heavy-duty wiping tasks in industrial process environments	6154 6155
Hanging Manager Manage	○7331	Industrial Jumbo Roll – Extra Wide & Long <i>L30</i>	38 cm x 37 cm	1 Roll x 380 m = 380 m = 1000 Sheets	3	Airflex™	Extra-durable large roll with high capacity and wider sheet, for heavy-duty wiping tasks in industrial process environments	6146 6154 6155
Heavy Soil & Fl	uid Wip	ing L40						
	O 7462	Heavy Soil & Fluid Pop-up Box Wipes <i>L40</i>	25 cm x 41 cm	9 Boxes x 90 Sheets = 810 Sheets	1	Double re-creped	Individual benchtop dispensing boxes of exceptionally absorbent wipes for soil, grease or fluid wiping tasks	-
HYPOTELL WILLIAM SHAP WILLIAM VELTON	7452	Heavy Soil & Fluid Jumbo Roll <i>L40</i>	34 cm x 32 cm	1 Roll x 255 m = 255 m = 750 Sheets	1	Double re-creped	Exceptionally absorbent large roll, for use in heavy soil, grease or high volume fluid wiping tasks in process environments	6146 6154 6155







WYPALL® INDUSTRIAL CLOTHS

Product Oil & Grime Cl	Colour/Code	Name Light Duty X60	Sheet size (L x W)	Case Contents	Technology	Benefits	Dispenser
MYO <u>ydi (</u> Mipero X80	<u>6034</u>	WypAll® X60 Quarterfold Cloths	31.7 cm x 30.5 cm	12 Bags x 76 Sheets = 912 Sheets	Hydroknit™	Individual Quarterfold cloths for light duty or precise oil and grime cleaning in process environments	7969
Harrist Constitution of the Constitution of th	○ 8376	WypAII® X60 Pop-Up Box	42 cm x 23.1 cm	10 Dispenser Boxes x 126 Sheets = 1260 Sheets	Hydroknit [™]	Versatile and portable Pop-up box of light duty oil & grime cleaning cloths to fit small spaces and ensure cloths are always available	6954
Mary Mary Mary Mary Mary Mary Mary Mary	○ 6035 ● 8370	WypAII® X60 Brag™ Box	42 cm x 31.8 cm	1 Brag™ Box x 200 Sheets = 200 Sheets	Hydroknit™	Double-sided benchtop dispensing box for keeping light duty cloths on hand at process workstations	-
In the second se	○ 6036	WypAll® X60 Jumbo Roll	38 cm x 42 cm	1 Roll x 750 Sheets = 750 Sheets	Hydroknit™	Large roll for light duty or precise oil and grime cleaning in process environments	6146 6154 6155
	8371	WypAII® X60 Jumbo Roll – Extra Long	38 cm x 31.5 cm	1 Roll x 500 Sheets = 500 Sheets	Hydroknit™	Large roll with high capacity and high coverage large sheet, for light duty or precise oil and grime cleaning in process environments	6146 6154 6155

DISPENSERS FOR THIS RANGE



Kimberly-Clark Professional™ Wall Mounted Jumbo Roll Dispenser 6146



Kimberly-Clark Professional™ Floor Stand Jumbo Roll Dispenser 6154



Kimberly-Clark Professional™ Mobile Stand Jumbo Roll Dispenser 6155

Product	Colour/Code	Name	Sheet size (L x W)	Case Contents	Technology	Benefits	Dispenser
Oil & Grime Cle	eaning —	General Purpose X					
Wholes William	○8387	WypAll® X70 Quarterfold Cloths	30.5 cm x 31.8 cm	12 Bags x 76 Sheets = 912 Sheets	Hydroknit [™]	Individual Quarterfold cloths for general purpose oil and industrial grime cleaning in process environments	7969
Harry Ald Angels San 2000	8290	WypAli® X70 Pop-Up Box	42.7 cm x 21.2 cm	10 Dispenser Boxes x 100 Sheets = 1000 Sheets	Hydroknit [™]	Versatile portable Pop-up box of general purpose oil and grime cleaning cloths to fit small spaces and ensure cloths are always available	6954
No. of the last of	○8296	WypAll® X70 Brag™ Box	42.7 cm x 28.2 cm	1 Brag™ Box x 200 Sheets = 200 Sheets	Hydroknit [™]	Double-sided benchtop dispensing box for keeping general purpose cloths on hand at process worksta- tions	-
Hypota s man and X70 m	○8384	WypAli® X70 Jumbo Roll	38 cm x 42 cm	1 Roll x 500 Sheets = 500 Sheets	Hydroknit [™]	Large roll for general purpose oil and grime cleaning in process environments	6146 6154 6155
	8389	WypAll® X70 Jumbo Roll – Extra Long	34 cm x 31.5 cm	1 Roll x 870 Sheets = 870 Sheets	Hydroknit™	Large roll with high capacity and high coverage large sheet, for general purpose oil and grime cleaning in process environments	6146 6154 6155
Oily Hands & T	iools Clea	ning Wipes					
MYTYPE	• 7772	WypAll® Cleaning Wipes Cannister	27 cm x 27 cm	6 Tubs x 50 Sheets = 300 Sheets	Presaturated Spunbond	Versatile pre-saturated cleaning wipers with an abrasive texture on one side for cleaning dirty surfaces, hands and tools on the go	-
Wipes	• 7775	WypAll® Cleaning Wipes tub	27 cm x 27 cm	6 Buckets x 90 Sheets = 540 Sheets	Presaturated Spunbond	Versatile pre-saturated cleaning wipers with an abrasive texture on one side for cleaning dirty and oily surfaces, hands and tools	-







Kimberly-Clark Professional™ Quarterfold Wipe Dispenser 7969

WYPALL® INDUSTRIAL CLOTHS

Product Oil, Grease & (Colour/Code Grime Cle	Name aning - Extra Stron	Sheet size (L x W)	Case Contents	Technology	Benefits	Dispenser
No. of the state o	○8388	WypAll® X80 White Quarterfold Cloths	30.5 cm x 31.8 cm	4 Bags x 50 Sheets = 200 Sheets	Hydroknit™	Individual Quarterfold cloths for heavy duty oil and grease cleaning in process environments	7969
No.	8295	WypAII® X80 Pop-Up Box	42.7 cm x 21.2 cm	5 Boxes x 80 Sheets = 400 Sheets	Hydroknit [™]	Versatile portable Pop-up box of heavy-duty oil and grease cleaning cloths; fits small spaces to ensure cloths are always available	6954
innear arr	8279 8294	WypAll® X80 Brag™ Box		1 Brag™ Box x 160 Sheets = 160 Sheets	Hydroknit [™]	Double-sided benchtop dispensing box for keeping heavy-duty oil and grease cloths on hand at process workstations	-
Honge c	○ 8377	WypAll® X80 Jumbo Roll	34 cm x 31.5 cm	1 Roll x 475 Sheets = 475 Sheets	Hydroknit™	Large roll for heavy-duty oil and grease cleaning in process environments	6146 6154 6155
	8347	WypAll® X80 Jumbo Roll	34 cm x 31.5 cm	1 Roll x 475 Sheets = 475 Sheets	Hydroknit™	Large roll with high coverage large sheet, for heavy-duty oil and grease cleaning in process environments	6146 6154 6155

Oil, Grease & Grime Cleaning - Cloth-like Feel ForceMax



DISPENSERS FOR THIS RANGE



Kimberly-Clark Professional™ Wall Mounted Jumbo Roll Dispenser 6146



Kimberly-Clark Professional™ Floor Stand Jumbo Roll Dispenser 6154



Kimberly-Clark Professional™ Mobile Stand Jumbo Roll Dispenser 6155

KIMTECH® CRITICAL CLEANING CLOTHS & WIPES

Product	Colour/Code	Name	Sheet size (L x W)	Case Contents	Technology	Benefits	Dispenser
Chemical & So	lvent Cle	aning Kimtech® Pr	ocess				
Poster Rigins	7 622	Kimtech® Process Quarterfold Wipes	38.9 cm x 49 cm	12 Bags x 35 Sheets = 420 Sheets	Meltblown	Individual Quarterfold lint-free synthetic cloths for chemical and solvent cleaning in controlled process environments	-
KINETECH FAMILY BUT	7 644	Kimtech® Process Wipes Brag™ Box	42.6 cm x 30.7 cm	1 Brag™ Box x 160 Sheets = 160 Sheets	Meltblown	Double-sided benchtop dispensing box of lint- free synthetic cloths for chemical and solvent cleaning in controlled process environments	-
KIMTECH PURE" Wiges	<u> </u>	Kimtech® PURE™ Quarterfold Wipes	38.9 cm x 35.1 cm	12 Bags x 35 Sheets = 420 Sheets	Meltblown	Individual Quarterfold lint-free synthetic cloths for precise chemical and sol- vent cleaning in controlled process environments	7969
H	O 7623	Kimtech® PURE™ Jumbo Roll	38 cm x 34 cm	1 Roll x 600 Sheets = 600 Sheets	Meltblown	Large roll of lint-free synthetic cloths for precise chemical and solvent cleaning in controlled process environments	6146 6154 6155
Tarrens and the same of the sa	7 643	Kimtech® PURE™ Jumbo Roll	38 cm x 34 cm	1 Roll x 500 Sheets = 500 Sheets	Meltblown	Large roll of lint-free synthetic cloths for precise chemical and solvent cleaning in controlled process environments	6146 6154 6155
Kimtech® Polis	hing						
	O 7213	Kimtech® Polishing Cloths, Centrefeed	60 cm x 39 cm	1 Bucket x 300 Sheets = 300 Sheets	Spunbond	Dispensing tub of dry cloths for surface preparation, pre/post paint applications and polishing in controlled process environments	-
KINTECH Relating Code	○7212	Kimtech® Polishing Cloths, Refill (refill for 7213)	60 cm x 39 cm	1 Bucket x 300 Sheets = 300 Sheets	Spunbond	Refill for dispensing tub	7213











Kimtech®
Polishing Cloths, Centrefeed
7213

KIMTECH® CRITICAL CLEANING CLOTHS & WIPES

Product	Colour/Code	Name	Sheet size (L x W)	Case Contents	Technology	Benefits	Dispenser			
Sealant Removal Kimtech® Sealant										



Kimtech® Sealant Wipers, O 7642 Folded

50 cm x 1 Carton x 500 Sheets = Rayon PET composite Large individual Quarterfold sheets for effective removal of sealant from brushes. tools and surfaces

Surface Preparation Kimtech® Microfibre



Solvent Wiping Wettask™



Kimtech® Wettask™ SXX 7764 Centrefeed

31.8 cm x 6 Refills x 60 Sheets = 30.5 cm 360 Sheets

Rayon PET composite Low-lint synthetic wipes with a compact sheet size for removing grease or adhesive residues; can be saturated with a chemical or solvent of your choice using the Wettask™

7919



Kimtech® Wettask™ SXX 7769 Centrefeed

15.2 cm 1050 Sheets

22.9 cm x 6 Refills x 175 Sheets =

Ravon PET composite High capacity roll of large low-lint synthetic wipes for removing grease or adhesive residues; can be saturated with a chemical or solvent of your choice using the Wettask™ system

7919



Kimtech® Abrasive Surface 28648 Cloths, Centrefeed

32 cm x 31 cm

6 Refills x 60 Sheets = 360 Sheets

Rayon PET composite

Extra durable low-lint cloth for abrasive and riveted surface wiping; can be saturated with a chemical or solvent of your choice using the Wettask $^{\text{TM}}$ system

7919

DISPENSERS FOR THIS RANGE



Wettaskⁿ Roll Wiper Dispenser - Bucket 7919

OUR UNIQUE TECHNOLOGIES



Airflex™ is our unique highly absorbent paper technology. The paper is dried by having hot air blown through it, mixing up the fibres to create strength, and creating absorbency cells that soak up water fast.



Using our unique Hydroknit[™] Material, Wypall[®] cloths are manufactured by entangling pulp and polypropylene together using high pressure water jets. The result is a highly absorbent cloth that is strong and durable when wet, contains no adhesives or binders, is resistant to most solvents, and can be used again and again.

WHICH PRODUCT FORMAT?



Compact Roll

Portable and easy-tohandle rolls, perfect for small spaces.



Centrefeed

Versatile mid-size rolls for use inside or outside a dispenser.



Jumbo Roll

Large rolls with big sheets and high capacities, for process environments.



Quarterfold

Pre-folded square sheets, taken one at a time from a hygienic wrap or dispenser.



Interfolded

Sheets folded together so that dispensing one sheet pulls the next through.



Pop-up Box

Small and portable dispensing box of individual sheets.



Brag™ Box

Mid-size double-sided bench-top dispensing box of individual sheets.



Wettask™

Refillable, airtight system to pre-soak cloths with your chosen solvent or disinfectant.

WHICH COLOUR?











Colour-coded (Red/Blue/Green/Yellow)

Choose a colour-coded cloth to identify different wiping tasks in segregated cleaning.



Blue

Choose blue for food hygiene compliance, or for oil or water saturation to be visible.



White

Choose white to see that dirt has transferred from surface to sheet, or when dye-free is needed for use with chemicals.



www.kcprofessional.co.uk

